2A:

X ZH -
[

el omgs =2 A= (crol:me)
SA - A BR(8) - IRAR - BAS o v R HmE2
EEEE 17,468,472 19,001 802 1,503,330
GEols BE(grEsnE/Auasiae) 7,381,585 7,601,240 219,655
SEFEEEEE 5,041,099 5,204,847 253,748
JHEE Ji=eg 20l e 4,635,443 4,901 643 246,200
205 ol310] 4,635,443 4901643 246,200
0 E g 1,170,000 1,176,000 26,000
oomes 1,170,000 1,176,000 £6,000
® BEsg 1,858,072 1,678,072 £20,000
ogzsg 1,658,072 1,678,072 £20,000
06 Sl ROl 358,000 380,000 £22,000
OAREE U HNAZ 158,000 180,000 £22,000
09 QI F | 60,500 245,000 A184,500
O3 HHAHALAZAY| 60,500 245,000 A184,500
SEEEHEECTEE 35,65 46,65 AT1,000
co@ Roiganea 35,65 46,65 AT1,000
PR EHEEISTE 75,504 78,204 72,700
ozom HAwETEE 75,504 78,204 72,700
YASERToE EPLH 2 912 8,460 7,58
201 g2 g 247 2,500 72,00
EECT] 247 2,500 72,03
OHNAEZ U ANLE, BAZHIZE w47 2,500 72,050
01 PHEEa 165 5,960 ~5.4%
EETEE % 2,560 ~.4%
OBAEAT AHI(DEHI, AH)) & 4,560 A4
14 oIEAE 400 1,400 A1,000
CEPSIEAEIES 400 1,400 A1,000
oEuE N 1,658,606 1,697,857 20,968
22 2 omuN 2 200,671 222671 18,000
204 HS s E 2| 22,600 60,600 18,000
P 22,600 50,600 18,000
oteIg=y 42,600 60,600 £18,000
Colgl HE JI=BA E4 14,990 19,400 ~4.410
201 gErE g 14,460 17,000 72,540
EERT] 250 T.000 ~550
MBS 2 450 1,000 7550
06 A 14,010 16,000 A1,990
OUHZOIZ AL Al W3l 14,010 16,000 A1,990
01 YHEEa 530 2,400 A 1,870
e TEE 500 2,400 ~1.870
oorl EoB S AF P 50 2,200 A1,670
CEEIEELIENIIEON A SN 0 200 2200
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X XH -
o=

OIS AFRH

SEIOlIBIA HE(YBIBTHH/YHU LI 22

(i)

celr A3y K= EEERSED
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
FEoy g2t 196,426 211,000 A14,574
201 Ler2aY| 196,426 211,000 A14,574
01 At 2teltl 156,426 171,000 A14,574
OZ@oy &2t 139, 146 153,000 13,854
OAZZeE ZRoY &t 17,280 18,000 AT20
oY Hi U SHAAE 29 79,470 84,430 24,960
201 Zer=2 Y| 79,470 84,430 4,960
2 =23l 50,660 55,620 A4,960
OQIEY 3ld AtBE 32,660 34,620 21,960
OsHRS MEE 18,000 21,000 3,000
oA SHYSANLE 29 124,982 126,946 ~1,964
201 Ler2aY| 124,982 126,946 ~1,964
2 s==3tl 17,036 19,000 A1,964
O2AF224RE DICIOAH St S 17,036 19,000 A1,964
QIR F& 20,600 38,400 A17,800
201 LetEaY| 20,600 38,400 A17,800
01 At 2teltl 20,600 38,400 A17,800
OQIAt S A} F=EH 2 &Y 0 17,800 A17,800
CIXE X2y 2==88 2= 182,676 100,000 82,676
403 NXIEHHM S =20l1& 182,676 100,000 82,676
02 S| 2SSt 2 X2 E A 182,676 100,000 82,676
OJEZtMNHE =8 L AJYREE 7
= 182,676 100,000 82,676
AL 32 681,681 668,556 13,125
BAAIE =2l 568,301 565,176 13,125
406 JIEFAHZ01E 13,125 0 13,125
01 JIEt+=0l1A 13,125 0 13,125
OZAL HH=s ldz 13,125 0 13,125
AY2IZHI(2ASIALR) (JIEHIIEL) 10,086,887 11,400,562 1,313,675
eI 23] 9,751,165 11,060,844 1,309,679
323 QI2H] X2 9,325,474 10,635,153 1,309,679
[ elal] 9,325,474 10,635,153 1,309,679
01 2= 6,782,008 8,091,687 1,309,679
oJi2=2 4,659,638 5,968,237 1,308,599
Oos= 4,659,638 5,968,237 1,308,599
-HSH 2,279,834 2,920,285 640,451
4= 999,024 1,008,927 A99,908
55 1,158,319 1,698,867 AB40,548
-2y 2,379,804 3,047,952 668,148
- 62 975,600 1,268,280 A292,680
= 833,280 999,936 166,656
- 83 285,240 370,812 A85,572
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X XH -
o=

OIS ARH
HY2HAHI(AZIAFLH) (DIEHIIEH

I=1 s
I8 =3

el ol (B9 &2
S - B - SRA(B) - HIRAY - BES ol erey /R HIDZ2

9= 246,480 369,720 A123,240

o= 1,545,711 1,546,791 1,080

OJAEN =S 140,520 141,600 /1,080

5= 140,520 141,600 21,080

i< Xt 34,080 38,400 A4,320

FAE 13,680 14,400 AT20

M AHA 25,200 28,800 A3,600

I PE 41,160 33,600 7,560

=&4| 335,722 339,718 A3,9%

EN2E JI2ZH(F24) 132,677 136,673 A3,9%

204 MR=HFH| 53,904 57,900 A3,9%

01 MR | 53,904 57,900 A3,99%

©4= 42,204 46,200 A3,99%
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